Kiz Mobility
2

Focus CR / CR45 O2 Holder

Item Number Part Number Description Quantity
1,2a,3-7 501441 02 Holder Assembly, 14-16 Width, Tilt 1
1,2b,3-7 501442 02 Holder Assembly, 16-18 Width, Tilt 1
1,2c,3-7 501443 02 Holder Assembly, 18-20 Width, Tilt 1
1,2d,3-7 501444 02 Holder Assembly, 20-24 Width, Tilt 1
1 001416 O2 Holder 1
2a 001385 Strut, Channel, 14-16 Width, Tilt 2
2b 001386 Strut, Channel, 16-18 Width, Tilt 2

08-06-2025



[tem Number  Part Number  Description Quantity

2c 001387 Strut, Channel, 18-20 Width, Tilt 2
2d 001388 Strut, Channel, 20-24 Width, Tilt 2
3 001280 Mount Bracket, 1" Tube Tilt 4
4 101811 M6 x 35 BHCS Blk Zn 4
5 102327 M6 x 16 HHCS BIk Zn 6
6 100658 M6 Nylock Nut Blk Zn 10
7 100746 M6 Flat Washer Blk Zn 12

08-06-2025



